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At 4,976 558,461
1 [+ L (TSA) +a G L) (PVG) 50 654
2 |4 (TSA) = 27 (CTU) 2 2,507
3 |4 (TSA) L 7 (332 )(HND) 112 2,130
4[>0 (TSA) H (&) (GMP) 28 1,470
5 |4 (TSA) K& ™ (XMN) 20 327
6 [+ (TSA) 3 31 % B-(TFU) 8 2,487
7 |41 (TSA) 7% (3 ) (SHA) 52 679
8 [+ (TSA) A& (FOC) 18 233
9 |4~ (TSA) £ & (CKG) 8 1,923
10 [% 2 (TPE) +ia G ) (PVG) 130 738
11 [£# (TPE) = = (KIX) 200 1,730
12 |% # (TPE) + 2R (TAE) 34 1,456
13 |% # (TPE) 2 2 3 (PPS) 4 1,961
14 |% 2 (TPE) = % (CDG) 14 9,789
15 |4 # (TPE) #* 5 (PEK) 46 1,725
16 |%# (TPE) # 2 #7 4 (BNE) # 5. j (AKL) 12 9,040
17 |£# (TPE) # 2 274 (BNE) 18 6,755
18 |% # (TPE) L B (CTS) 70 2,779
19 [+ (TPE) = #ri F(IST) 14 8,422
20 |% #* (TPE) kL & (1AH) 14 12,765
21 |4 # (TPE) Z+ s (KUL) 76 3,243
22 |% # (TPE) ¢+ & (NGO) 66 1,881
23 |4 # (TPE) 5% % (YYZ) 14 12,089
24 |4 # (TPE) % ~ w2 (ONT) 14 10,993
25 |4 # (TPE) = 2% (CT0) 12 1,810
26 |4 # (TPE) @ 72 B (SEA) 20 9,749
27 |+ # (TPE) # *Z(DXB) 14 6,548
28 |4 # (TPE) % 7 (BKD) 20 2,197
29 |4 # (TPE) # 7= (ROR) 4 2,429
30 |4 # (TPE) L (27 )(NRT) 230 2,213
31 |+ # (TPE) L (32w )(HND) 28 2,227
32 |%& # (TPE) o (HAN) 108 1,644
33 |4 # (TPE) 2 f 74w (FRA) 12 9,356
34 |4 (TPE) 74 # (ORD) 14 11,986
35 |+ # (TPE) £ i# (PNH) 24 2,311
36 |4 # (TPE) Fo s e (AMS) 8 9,460
37 |+ # (TPE) &2 5 (DPS) 28 3,823
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38 |% # (TPE) 7% 157 (LAX) 76 10,925
39 |% # (TPE) # A mH (SGN) 106 2,214
40 |4 # (TPE) % f (i= ") (ICN) o4 22 (AMS) 6 10,224
41 |4 # (TPE) B Ci="")(ICN) 148 1,525
42 |4 #* (TPE) % # (HKG) 450 811
43 |4 # (TPE) . % (DAD) 76 1,716
44 |4 # (TPE) B (JFK) 22 12,523
45 |4 # (TPE) % L (PUS) 94 1,383
46 |4 # (TPE) 5 R~ 3 (MNL) 146 1,173
47 |4 # (TPE) 7% 7% (CEB) 60 1,663
48 |4 # (TPE) % 2 (A& )(DMK) 38 2,822
49 |% 2 (TPE) § (g% )(BKK) [de 2r4F2 (AMS) 12 11,694
50 |4 4 (TPE) & 5(FR~p % )(BKK) |iGsc(# £t )(LHR) 14 12,031
51 |+ # (TPE) § (g% )(BKK) [@as p(VIE) 8 10,940
52 |4 # (TPE) ¥ 5 (g~ % )(BKK) 164 2,491
53 |4% # (TPE) 78 (CNX) 38 2,413
54 |% 2 (TPE) Z ] (SYD) 22 7,280
55 |4 # (TPE) 7 4e 3£ (CGK) 34 3,821
56 |% 2 (TPE) # 5 (AKL) 6 8,873
57 |4% # (TPE) & (XMN) 28 338
58 |% 2 (TPE) #74e 3 (SIN) 134 3,279
59 |4 # (TPE) BB E=(YWR) 28 9,597
60 |4 # (TPE) A& b (FUK) 84 1,367
61 |+ 2 (TPE) a3 (VIE) 14 8,981
62 |4 # (TPE) % f ~(MEL) 10 7,373
63 |% # (TPE) 2 (MFM) 104 948
64 |4 # (TPE) A1 (CIU) 18 1,206
65 |% 2 (TPE) # 3 (PEN) 22 3,132
66 |4 # (TPE) ¥ £ L (SFO) 92 10,392
67 |% 2 (TPE) B 5 (GUMD 4 2,783
68 |% 2 (TPE) % 3c( #77%)(LHR) 8 9,802
69 |4 # (TPE) 7 2 (VCA) 8 2,334
70 |% 2 (TPE) 1 (YNY) 2 1,605
71 |4 # (TPE) #x# (VID) 4 2,111
72 |4 # (TPE) K o35 (PHX) 2 11,433
73 |4 # (TPE) A i (MXP) 8 9,604
74 |% 2 (TPE) ¥ 2 (MUC) 8 9,276
75 |4 # (TPE) B & (HIJ) 8 1,482
76 |4 4 (TPE) 7 % (KMD) 4 1,225
77 |% # (TPE) fs &~ (KMJ) 22 1,256
78 |4 # (TPE) A2 5 (KOJ) 4 1,142
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79 |4 # (TPE) % L (TOY) 8 1,978
80 |4 # (TPE) 2 28 % f-(TFU) 16 1,792
81 |+ #* (TPE) ¥ (SZX) 44 795
82 |% 2 (TPE) B 1 (CAN) 36 845
83 |4 # (TPE) 8 (0KA) 112 631
84 |4 # (TPE) % 1> (TAK) 8 1,605
85 |4 # (TPE) % 5 (FCO) 6 9,598
86 |+ # (TPE) * 4 (PRG) 4 9,017
87 |4 # (TPE) 7t 2 (DEL) 2 4,369
88 |4 # (TPE) i 5 (SDT) 34 2,416
89 |4 # (TPE) I > (KMQ) 18 2,009
90 |4 # (TPE) o (HGH) 22 595
91 |4 # (TPE) 5o 5 (CRK) 30 1,102
92 |4 # (TPE) Fa L (MYT) 8 1,463
93 |4 # (TPE) # #(A0J) 14 2,505
94 |4 # (TPE) ig - (FOC) 12 233
95 |4 # (TPE) %5 (IBR) 4 2,508
96 |4 # (TPE) =3 (HSG) 4 1,491
97 |4 # (TPE) A L (0KJ) 14 1,778
98 |4 # (TPE) #78(K1J) 4 2,376
99 |4 # (TPE) =¥ (HNA) 4 2,695
100 |4 # (TPE) S 45 (HKD) 10 2,815
101 |4 # (TPE) ‘8" (AKJ) 4 3,119
102 |4 # (TPE) % +(KCZ) 4 1,661
103 |4 # (TPE) #oa (AXT) 4 2,565
104 |4 # (TPE) ¥ % (HKT) 4 3,254
105 |4 # (TPE) » B (PQC) 4 2,626
106 |% # (TPE) 7 % £ 7 (CXR) 6 1,922
107 |4£ # (TPE) £ & (CKG) 10 1,549
108 [% # (TPE) 3%+ (CGO) 6 1,307
109 |4 # (TPE) 73 (WUH) 6 922
110 |4 # (TPE) % 4 (NGB) 14 531
111 |4£ # (TPE) % 7 (NKG) 16 808
112 [% # (TPE) 7 & (TAO) 8 1,247
113 |4 # (TPE) 7 % (BWN) 6 2,345
114 |4 # (TPE) £l (+ 414 )(KLO) 8 1,621
115 |4 # (TPE) A4 (KKJ) 4 1,513
116 [% # (TPE) F 4 (CI) 28 1,407
117 |% # (TPE) £ g (4 3% 5 ) (MPH) 6 1,458
118 [4£ # (TPE) 7% (MWX) 4 1,369
119 [£ ¢ (RMQ) @ i (HAN) 14 1,558
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120 |4 ¢ (RMQ) # &P (SGN) 28 2,098
121 |% ¢ (RMQ) % & (HKG) 38 726
122 |4 ¢ (RMQ) = (MFMD) 8 889
123 |% ¢ (RMQ) % 7 (NKG) 2 875
124 % = (TNN) # &P (SGN) 4 1,969
125 |% z&(KHH) 1A G L) (PVG) 24 963
126 |®& == (KHH) <~ B (KIX) 46 2,017
127 | z(KHH) + K (KUL) 6 2,977
128 |#& == (KHH) ¢+ & (NGO) 6 2,259
129 |# z(KHH) L (=8 )(NRT) 38 2,519
130 | == (KHH) @ o (HAN) 28 1,509
131 | % z2(KHH) # &P (SGN) 28 1,959
132 |#& == (KHH) B #C="")CN) 40 1,827
133 | 2 (KHH) B C&EF)GNP) 12 1,901
134 |% 22 (KHH) % & (HKG) 122 643
135 |#& = (KHH) . % (DAD) 18 1,547
136 |8 == (KHH) % L (PUS) 14 1,640
137 | z(KHH) 5 & 3 (MNL) 14 898
138 | == (KHH) B (F 7 )(BKK) 47 2,346
139 | z(KHH) & P (XMN) 8 311
140 | == (KHH) Fr4v 3 (SIN) 6 2,946
141 |# z(KHH) & b (FUK) 14 1,731
142 | z=(KHH) M2 (MFM) 36 779
143 | z(KHH) # " (SZX) 4 672
144 |# =z (KHH) & (FOC) 2 308
145 | % z(KHH) #:% (WUH) 6 1,065
146 |8 == (KHH) % 7 (NKG) 6 1,056
147 |74 8 (SIN) % #* (TPE) L (CTS) 8 5,937
148 [#74c 4 (SIN) % # (TPE) 7 (&2 )(NRT) 14 5,371
149 [#74c 8 (SIN) %+ # (TPE) B (= ")CN) 8 4,701
150 |4 # (HKG) % # (TPE) & (=9 )(NRT) 14 2,958
151 |% # (HKG) % #* (TPE) = B (KIX) 14 2,524
152 | % # (HKG) % # (TPE) ¢+ & (NGO) 14 2,664
153 |8 ~ = (MNL) %+ # (TPE) o4 #r 2 (AMS) 8 10,627
154 |& # (A& )(DMK) % # (TPE) & (=9 )(NRT) 10 4,938
155 [# B# (KUL) 4 # (TPE) L (CTS) 6 6,010
156 [# B# (KUL) % #* (TPE) * I (KIX) 14 4,978
157 [# B (KUL) 4 # (TPE) %+ & (NGO) 6 5,138
158 [# B#L (KUL) % # (TPE) & (0KA) 8 3,930
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